
DAILY BASIS ASSIGNMENT 

          DAY: TUESDAY                CLASS: V                    DATE:12.05.2020  

         

  SUBJECT: ENGLISH 

I. Choose the correct possessive pronouns from the given options to fill in the 

blanks. 

1. We sang popular songs for _____ end-of-year concert. 

a. Their  

b. My 

c. Our 

d. Your 

2. Madison helped the child with ______ homework. 

a. Our 

b. Her 

c. Their 

d. Mine 

3. I share _____ talent for making people laugh with everyone I meet. 

a. My 

b. My’s 

c. Mines’ 

d. Mine 

4. ______ talents may be hidden now, but you should try to develop them. 

a. Your 

b. You’re 

c. My 

d. Hers 

5. The English people were discouraged because ______ country was suffering from 

terrible disasters. 

a. There 

b. They’re 

c. Their 

d. Its 

 

SUBJECT: EVS 

 

1.  CHOOSE THE CORRECT ANSWER.                                                                                                     

1. The process of dispersal is carried out by agent like 

   a. Smoke                     b. Water             c.  Oxygen                  d. Carbon dioxide 



2.  We will never find a field in which all the plants are of  

    a. Different kind          b .Same kind        c.  Long                   d.  Short 

3. Farmer is a person who work in a   

     a. Bank                        b. Hospital            c. Farm                    d. Factory 

4.  Wheat, beans and legumes are 

      a. Rabi crops              b. Kharif crops        c. Dispersal                    d. Agriculture 

 5. Rice and maize are 

      a. Kharif crops             b. Rabi crops           c. Dispersal           d. Explosion 

    

SUBJECT: MATHS 

 

I. Choose the correct option: 

1) 12+50÷5×1-10= 

a)34                          b)16                        c)12                         d)23 

2) 45÷15-1+5×6= 

a)56                        b)32                         c)27                          d)48 

3) 24÷8×15-3+10= 

a)34                         b)65                        c)28                          d)52 

4) 50÷10×0+60-25= 

a)35                          b)10                       c)24                           d)43 

5) 35+65÷1×1-30= 

a)65                           b)52                       c)70                           d)36 

 

SUBJECT: COMPUTER 

 

I. Choose the best options from those given below:- 

i) _________ can easily be carried out due to their small size  

(a)  Primary memory  (b) CD-ROM      (c) Both (a) and (b)         (d) RAM 

 

ii) ________ comes in different storage capacities 



(a) Multimedia card  (b) ROM      (c) RAM              (d) Both 

(b) and (c) 

 

iii) ________ is the same size as CD-ROM 

(a) Floppy   (b) DVD           (c) CD-ROM          (d) ROM 

 

iv) _______ make a kilobyte (KB) 

(a) 1024 MB   (b) 1024 KB       (c) 1024 Bits        (d) 1024 

Bytes  

 

v) Primary memory is of ______ types 

(a) Four   (b) Five          (c) Two          (d) Three 

 

 

विषय- व िंदी 

कक्षा - 5 

 

नीचे वदए गए  बहुविकल्पीय प्रश्न िं के उत्तर चुनकर विखिए- 

प्रश् 1: एक दूसरे के विपरीत अर्थ िाले शब्द को क्या कहते हैं ?  

      (क) विलोम शब्द (ि) समानार्ी शब्द           

       (ग) विन्नार्थक शब्द (घ) अनेकार्ी शब्द           

प्रश् 2 : '  गुण 'का उवित विलोम है - 

      ( क) दोष  (ि) अच्छाई (ग) िला ( घ) बुराई 

प्रश् 3 : समुद्र का सही पर्ाथर्िािी शब्द कौन सा है ? 

        (क) सागर ,जलवि ( ि) सागर , सररता  

         (ग) जलवि, जल (घ) रत्नाकर, जलाशर् 

प्रश् 4 : समान अर्थ िाले शब्द को कहते हैं- 

        (क) विपरीतार्थक शब्द (ि) समानार्ी शब्द 

         (ग) विन्नार्थक शब्द (घ) अनेकार्ी शब्द 

प्रश् 5 : र्ह विलोम शब्दोों के जोडे हैं- 

           (क) स्वािीन, परार्ा  (ि) िनी ,गरीब 

            (ग) रोना, होंसना (घ) अमृत ,जहर 

 

                                              ************************************ 



 

 

 

 

 



                   fu;r dk;Z 20         

fo’k; &laLd`r                         fnukad 12.05.2020                                  

d{kk iap 

uksV &gyUr frjNh js[kk (  ) dks dgrs gSaA tks O;atu fcuk Loj dh  ~~  

lgk;rk ls fy[ks tkrs gS- oks vk/ks ekus tkrs gSa tSls &d~ [k~ Xk~ iwjs 

fy[kus ds fy, d~$v¾d vc d iwjk gks tk,xk blfy, iwjs d esa gyUr 

ugh yxsxkA ( % ) fpg~u dks folxZ dgrs gSa AfolxZ “kCn ds vUr esa 

yxk, tkrs gSa bldk mPpkj.k vk/ks g~ ds leku gksrk gS A 

mijksDr uksV ds vk/kkj ij lgh fodYi pqusa & 

iz”u 1 folxZ ds fpUg~ gSa & 

     d-(&)        [k (%)         x ( ¡)           ?k (&aa) 

iz”u 2gyUr ds fpg~u gSa &   

    d ( ~)        [k (A)       x ( ¡ )           ?k ( ª)  

iz”u 3 iqfYyax ,dopu “kCn ds vUr esa Ykxk, tkrsa gS & 

    ad gyUr      [k- folxZ    x-vuqLokj         ?k vk dh ek=k 

iz”u 4 ,d gkFkh dk lgh laLd`r “kCn gS & 

    d vt        [k xtk     x xtkS            ?k-xt% 

iz”u 5 buesa ls la;qDr O;atu ugha gSa & 

    d d~          [k- =~       x-{k~              ?k J~ 


